help needed...with all explanations..do in microsoft word 



1. A survery found that the average hotel room rate in new orleans is 88.42 and the avarage room rate in phoenix is 80.61. Assume that the data was obtained from two samples of 50 hotels each and that the standard deviations were 5.62 and 4.83 respectively. At alpha=.05, so it can be concluded that there is a significant difference in rates? 
We can use z-test. The test z-statistic
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Note that for alpha=.05, the z-critical value CV=1.96. As |z|=7.45>1.96, we should reject the null hypothesis H0: there is NO significant difference in rates. We conclude that there is a significant difference in rates.


2. Find the critical value for a right-tailed F-test when alpha=.05 the degrees of freedom for the numerator (d.f.N.) are 15, and the degrees of freedom for the denominator (d.f.N.) are 21. 
The critical value for a right-tailed F-test when alpha=.05 is CV=2.176



3.Find the critical value for a two tailed F-test with alpha=.05 when the sample size from which the variance for the numerator was obtained was 21 and the sample size from which the variance for the denominator was obtained 12
The left-tail CV is 1/3.057=0.3271; the right-tail CV is 3.057.
I use a website http://homepage.usask.ca/~rjb609/Tables.html  
_1227136211.unknown

